
Techno Toy Tuning 
 Billet Power Cradle 

Assembly  

Installation Instructions  

 

Packing List: 
2) Front fancy caps 

2) Rear fancy caps 

2) Power Cradle Blocks 

2) power braces  

1) Power Cradle 

1) Hardware Pack 

 

Hardware List: 
 

   Qty 8) 8x1.25x20mm Allen Head Bolts (Power Brace to Fancy Cap)  

   Qty 8) 10x1.25x35mm Allen Head Bolts (Fancy Cap Bolts) 

Qty 4) 10x1.5x40mm Button Head bolts and Nylocks (Cradle to Brace) 

Qty 4) 10x1.25x40mm Allen Head Bolts and Milspec washers (Block to           
Cradle) 

    Qty 2) 12x1.25x130mm Bolts and Nylocks (Block to Differential) 

    Qty 2) 12x1.75x100mm Bolts and Flange Nuts (Block to Differential) 

    Qty 10) 12mm washers (Depending on the Differential being Used) 



 

  

To being installing the power cradle, install the fancy caps first using the 
eight 10x1.25x35mm Allen Head bolts in place of the old factory control 

arm caps. 

Torque to 30ft/lbs.  

 

 



 

Orient the blocks as shown and bot them to the differential using the two  

12x1.75x100mm bolt and flange nut. Torque to 50ft/lbs. 

 

 

 



Bolt the power brace to the cradle using the four 10x1.5x40mm Button 
heads and nylocks.  

 

 

 

Align the eight 8x1.25x20mm allen head bolts up with the wholes of the 
fancy caps and bolt the power brace to the fancy cap. Torque to 30ft/lbs. 

 



 

 

Bolt the power cradle to the to the blocks using the four 10x1.25x40mm 
Allen head bolts and Milspec washers. Torque the bolts to 30ft/lbs.  

 



 

 

Once it’s all bolted into the car and to the differential, double check all the 
bolts and make sure they are torqued. If everything is bolted up and tight 

you are ready to enjoy your new billet power cradle assembly!! 

 

We Hope you enjoy the 
performance and aesthetics of 

your new techno toy tuning 
Billet Power Cradle Assembly!! 

 



Any questions please e-mail 

Us at  

info@Technotoytuning.com 

 
 

 


